DANCOVER®

Manual
for
Polytunnel Greenhouse
4m Series

08-06-2020



It is recommended that you follow through this manual to complete the build
of the Garden Tunnel.



DANCOVER®

Safety Advice

Attention

In some countries or areas, you may have to obtain permission when setting up structures like
greenhouses or similar buildings exceeding a certain size. It is your responsibility to comply with
local rules and regulations and to ensure that the greenhouse is assembled correctly.

Please note that your polytunnel greenhouse is intended as a seasonal form of coverage and not
as a permanent structure! During windy weather, we advise you to secure your greenhouse or in
case of strong wind, take it down. Overall, we advise you to place your polytunnel greenhouse in
the lee of a building, trees or other objects that will protect the greenhouse from too strong and
direct wind.

When it rains, water may pile up on top of your polytunnel greenhouse causing it to collapse. It
is your responsibility to keep the roof of the greenhouse free of gathering water. Be sure that the
cover is fully extended at all times and make sure to remove water that builds up during rainfall.

In case of bad weather in general, please secure loose objects in the garden, e.g. the garden
trampoline and other things that may cause a danger for your polytunnel greenhouse.
Furthermore, do not use open fire, welding equipment or other sources of ignition, inside or
close to the greenhouse.

When you buy a greenhouse and set it up in your garden, we recommend that you check,
whether your home insurance covers the structure. At the same time, you are not supposed to
be inside the greenhouse during extreme weather conditions.

This structure has not been tested for specific snow and wind loads! Make sure you follow our
general safety advice and in the event of snow, always remove excessive amounts of snow
from the greenhouse to prevent too much snow on the roof of the greenhouse. Snow is likely
to make the entire structure to collapse; hence our advice about seasonal use only.

Note: Dancover warranty applies only to the normal use of the greenhouse, normal wear and

tear excepted, by written use instructions or manual. The warranty does not apply to damage
caused by accident, abuse, misuse or modification of the greenhouse.

Warranty Information
Please visit dancovershop.com for information on warranty.

Please always check our website for the latest safety advice and manual.



No. DESCRIPTION 4x6m | 4x8m |4x10m
—
1 Side hoop dia 35mm / s s |0 | w2
2 Top hoop dia 35mm //—x 4 5 6
3 Strut dia 30mm = =D 4 5
4 Pipe dia 30mm —= 10 15 20
5 Strut one end dia 30mm —~ = 5 5
6 Anchor TSRS 8 10 | 12
7 Hoop clip dia 35 84 84 84
8 Non-hinge clamp dia 35 8 8 8
9 Pipe plug dia 25mm 5 5 5
10 Nut M6 thin 2 2 2
11 Main foil 1 1 1
12 Gable foll 2 2 2
13 Nut M8 40 47 54
14 Washer 8 32 39 46
15 Bolt M8x30 12 12 12
16 Bolt M8x45 13 15 17
17 Bolt M8x70 15 20 25
18 Nut M6 - with insert 2 2 2
19 Left door pipe dia 30mm — 2 2 2
20 Strut dia 30mm (" /) — 2 2 2
21 Pipe dia 25 Q — 4 4 4
22 Door left side // 2 2 2
E— . ﬁ/
7 7
23 Door right side Y, 2 2 2
& .}/
24 Right door pipe dia 30mm o 2 2 2
25 Non-hinge clamp dia 30 4 4 4




26 Hoop clip dia 30 74 74 74
27 Clamp hinge 4 4 4
28 C-shape hinge 4 4 4
29 Door lock 2 2 2
30 Door lock latch 2 2 2
31 Foil tape 1m 2 2 2
32 Foil tape 2m 6 6 6
33 Foil tape 3m 2 2 2
34 Foil tape 4m 4 4 4
35 Door foil 2 2 2
36 Nut M6 20 20 47
37 Washer 6 24 24 24
38 Bolt M6x45 - countersunk 20 20 20
39 Bolt M6x50 2 2 2
40 Bolt M8x40 4 4 4













Cut loose end

Dig a trench, put foil inside
Ground level and cover up with soil

500

N

300

Cut loose end



Clamp Foil tape

10



Harmmer fube in
the ground for 40cm

11



4300

Cut 45 *lire

Cut 457 lire

o P

3470

G0

Clamp Foil tape Foil Hoop (pipe)



Attach the doar

Dig the foll ike the sides of the main foll

13



DANCOVER®

Contact information

Head office:

Dancover A/S
Nordre Strandvej 119 G
3150 Hellebaek

For more information
please visit:
www.dancovershop.com

Denmark

National contact

Denmark: 70 26 76 20
denmark@dancover.com

UK: 020 8099 7570
uk@dancover.com

Germany: 041 0266 7040
germany@dancover.com

France: 0975 181 800
france@dancover.com

Sweden: 040 233 262
sverige@dancover.com

Finland: 0 931 581 720
suomi@dancover.com

Poland: 22 300 8602
polska@dancover.com

Luxembourg: +49 041 0266 7040

luxembourg@dancover.com

Portugal: 308 800 899
portugal@dancover.com

Spain: 911 436 828
espana@dancover.com

Italy: 02 479 21 198
italia@dancover.com
Switzerland: 0840 000125

schweiz@dancover.com

Austria: 0662 626935
austria@dancover.com

Norway: 231 00 690
norge@dancover.com

Nederland: 0 858 880 524
nederland@dancover.com

Ireland: 0 151 33 003
ireland@dancover.com

Belgium: 0 28 08 08 09
belgique@dancover.com




